200 5

AR V) — 78k Ko

<M1—A>
KB A A GRS IR BiE | #Hk | M .
NEfL
A) A) A) M/G | M/IG | G
KB A A 3 3 6 1 |0.86 )
A) 6 6 12 2 |0.86
7S 0 3 3 5 | 0.38 9
A) 0 6 6 10 | 0.38
Iz 1 2 3 6 |0.33 5
(A) 2 4 6 12 | 0.33
<M1-—B>
A RN kg;x A FEREH | NT TARK 3@,§i§ 2: LA
T 3 3 3 9 4 10.69 1
7 6 7 20 | 12 | 0.63
PN 2 1 3 6 6 |0.50 5
FEF 6 2 6 14 | 14 |0.50
R 1 3 3 7 4 |0.64
B T i 4 6 6 16| 8 |o067| 2
NT TR 1 0 0 1 9 |0.10 A
2 1 0 3 19 | 0.14
<M2—A>
KB i AT i O. K. B | B8 | ik | M .
a< NEAT
(A) A) M/G | M/G | G
PN S 3 3 6 2 |0.75 )
(A) 7 6 13 5 | 0.72
ey 1 3 4 5 | 0.44 0
2 6 8 11 | 0.42
O. K. B 1 2 3 6 |0.33 5
(A) 3 4 7 12 | 0.37
<M2—B>
SHEERAER | v —T EPFAIE | TS | %k | M -
(A) (A) (A) M/G | M/G | G a
SPEEROR 3 3 6 1 |0.86 )
A) 7 6 13 3 |0.81
X =7 1 3 4 3 | 0.57 5
(A) 3 6 9 7 | 0.56
HELBF UK 0 0 0 6 | 0.00 5
A) 0 0 0 12 | 0.00
Moy (LB | Gy (M EY)




<M3—-—A>

H R (EAALE H A fi i Wi | % | M -
A) A) A) M/G | MIG | G .
B STALE 1 1 2 6 | 025 5
) 3 3 6 12 | 0.33
ALY 3 3 6 1 0.86 )
) 6 6 12 4 0.75
EENs 3 0 3 4 | 0.43 9
A) 6 1 7 9 | 0.44
<M3—-B>
T AT T A KA A K AR B | #H% | M
Z KU [[tiva
(A) (B) (A) we | wa | g |
T AT T A 1 1 3 5 8 [0.38 5
A) 2 2 7 11 | 20 |0.35
PN 3 3 3 9 2 10.82 1
(B) 6 7 6 19 5 |0.79
PNEENS 3 1 3 7 5 |0.58 5
A) 7 2 6 15 | 12 | 0.56
2 0 1 3 9 |0.25
PPN b
e 7 1 3 11 | 19 |0.37 4
<M4—A>
B ek B | #HE | M
KBEHiZs@R | KBk ARG NEAL
- fit (B) FEAT MG | MG | G fit
— 1 3 0 4 6 | 0.40 5
6 1 10 15 | 0.40
I, 3 3 2 8 6 | 0.57 9
7 7 5 19 14 | 0.58
B A ik 0 2 2 4 9 |0.31 .
(B) 2 4 4 10 19 | 0.34
J—— 3 3 3 9 4 | 0.69 )
6 7 6 19 10 | 0.66
<M4—B>
SNk I X HOBE | SPedEROOR | RS | Bk | M
NN [t
(B) (A) (B) MG | MIG | G fit
KB 3 3 3 9 1 0.90 )
(B) 6 6 6 18 3 | 0.86
I 0 3 2 5 7 1 0.42 5
0 6 5 11 15 | 0.42
FH1 320 5 0 1 0 1 9 |0.10 .
A) 0 2 0 2 18 | 0.10
SPEEREAH 1 3 3 7 5 | 0.58 9
(B) 3 7 6 16 11 | 0.59

Moy (LB | Gy (T EY)




<M5—-A>

PNUTTIE]

)M T3

ERvE 4

ESE

%

JIEAE
(A) (A) (B) (©) M/G | M/G | G
PN 2 3 3 8 4 | 0.67 5
A) 4 7 6 17 10 | 0.63
BT 3 3 3 9 4 | 0.69 )
(A) 6 7 6 19 9 | 0.68
H IR 1 2 3 6 6 | 0.50 5
(B) 4 5 6 15 14 | 0.52
HE P AR 0 0 0 0 9 | 0.00 .
(®) 0 0 0 0 18 | 0.00
<M5—B>
HE P UK \ PNEE N E S i Wi | #H%k | M .
(B) A (B) Tl we | we | g |
HE P 2R AE 3 3 0 6 4 | 0.60 9
(B) 6 7 0 13 9 |0.59
S 0 3 1 4 8 |0.33 5
1 6 2 9 18 | 0.33
K H A 1 2 3 3 9 |0.25 A
(B) 2 5 6 7 19 | 0.27
I 3 3 3 9 1 | 0.90 .
6 7 6 19 2 |0.90
<M6—A>
A A h— vy —7 MTFR&D T AT T A s | #k M Wi
v R (B) (B) (B) M/G | M/G | G a
HA b= 0 3 3 6 6 | 0.50 5
vy A 0 6 6 12 13 | 0.48
T —7 3 3 3 9 3 |0.75 )
(B) 6 7 6 19 8 10.70
BFR&D 2 2 2 6 9 | 0.40 4
(B) 5 6 6 17 19 | 0.47
T AT T A 1 1 3 5 8 |0.38 5
(B) 2 2 6 10 18 | 0.36
<M6—B>
PN TS ESLE o KAAME | B | #HE | M N
(A) i ©) we | wG | o |
PN SE S 3 3 6 2 |0.75 )
(A) 6 6 12 5 | 0.71
e 2 3 5 5 | 0.50
i 4 6 10 | 10 |o0s0]| 2
K A 0 2 2 6 | 025 5
(©) 1 4 5 12 | 0.29

MivyfR (EB) | GoF=R (T E)




<M7—-A>

ATFAPEER | BMTFR&D o Wi | #Hk | M .
AHA) ©) AR e | we | 6 | T
AR A PE ST 1 3 4 5 | 0.44 5
AFB(A) 7 12 11 | 0.52
BTFR&D 3 3 6 3 | 0.67 )
(© 7 7 14 10 | 0.58
54 %R 2 2 4 6 | 0.40 5
4 5 9 14 | 0.39
<M7—B>
O. C. T | KB W& | % | M .
A ©) BIEL e | we | 6 |
O. C. T 2 3 5 3 0.63 9
(A) 4 6 10 6 | 063
KR A FT 3 3 6 3 | 0.67 )
(©) 6 6 12 6 | 0.67
R 0 1 1 6 | 0.14
BTEL 0 2 o | 12 [01a] 3
<M8—A>
A RRMR | M FEREE | RIMLFETE | RS | BE | M .
NSBC JIEAE.
(B) (D) (B) MG | M/G | G
NSBC 2 1 1 4 9 |0.31 A
5 2 3 10 18 | 0.36
B4 % KR 3 2 1 6 8 |0.43 5
(B) 6 5 3 14 18 | 0.44
HE P 2R 3 3 0 6 6 | 0.50 5
(D) 6 7 0 13 13 | 0.50
FIMbF T3 3 3 3 9 2 |0.82 )
(B) 6 6 6 18 6 | 0.75
<M8—B>
H A fiit ) PNTELE B | #Hk | M N
VAE: NEAL
(B) (B) MG | M/G | G
I A fi it 3 3 6 1 |0.86 )
(B) 6 6 12 2 | 0.86
o 1 3 4 4 | 0.50 5
2 7 9 9 | 0.50
KB 0 1 1 6 |0.14 5
(B) 0 3 3 13 | 0.19
MivyFsE (EBY) | GioyFSR (FEY)




<M9—-—A>

. T AT T A O. F. K vy —7 s | Hk M .
7R ©) ®) © |we | we| ¢ |
JRR—, 3 3 3 9 4 | 0.69 )
7 7 6 20 8 |0.71
T AT T A 1 3 2 6 8 | 0.43 5
(© 2 6 4 12 18 | 0.40
O. F. K 1 2 1 4 9 |0.31 .
(B) 2 4 3 9 20 | 0.31
vy —7 2 3 3 8 6 | 0.57 9
(®) 4 7 7 18 13 | 0.58
<M9—B>
0. K. B TN IR B | #Hk | M -—
B) it AT (B) M/G | M/G | G a
0. K. B 3 3 6 2 0.75 1
(B) 6 6 12 6 | 0.67
TR B 0 0 0 6 | 0.00 5
i AT 0 0 0 12 | 0.00
IR 2 3 5 3 | 0.63 5
(B) 6 6 12 6 | 0.67
<M10>
b FH 320 A e O. C. T | WFAEEES | ¥EMAs | BE | #HE | M .
N JEASE
(B) (B) B) AHB(B) (©) M/G | M/G | G
ERAL: 3 1 0 1 5 9 |0.36 A
(B) 2 1 2 11 | 18 | 0.38
FH 120 0 0 0 1 1 12 | 0.08 .
(B) 0% 0 0 2 2 24 | 0.08
0. C. T 3 3 1 1 8 7 10.53 5
(B) 6 6 2 2 16 | 14 | 0.53
AR A PE ST 3 3 3 2 11 4 10.73 9
A (B) 6 6 6 6 24 | 10 |0.71
AL PN 3 3 3 3 12 5 |0.71 1
(©) 6 6 6 7 25 | 12 | 0.68
<W1—A>
e e O. C. T | By | #Hk | M .
LG HE P PSR W I I JIEfSE
R 3 3 6 0 | 1.00
i 6 6 12 | o |1o0| !
S 0 2 2 4 |0.33
HAFRACK 0 4 4 s |oss| 2
0. C. T 0 1 1 5 | 0.17 5
(A) 0 2 2 10 | 0.17
MivoF s (EBY) | GioyF SR (FEY)




<W1—-B>

W | Mk | M
AR L— AL B
KIETE | v fgler | oo s | |
PN U 1 3 4| 2 067
2 6 8 5 | 062
: . 2 2 4 2 1067
vy —7 1
4 5 9 5 | o064
P k(b 0 1 1 5 [o017]
1 3 4 11 | 0.27
W2 >
‘ LT mE | k| M
9\/]} 3,\‘\ ‘/%,\EE’@ :m\: /(\E. El ]ILE\J‘
SR, R ik 25 S il Rl B 1T
P 3 3 2 3 11| 1 oez]
6 6 4 6 22 | 2 [092
AT 0 2 0 2 + | 8 Joss] |
Ll 0 4 0 4 8 | 16 | 033
A i 0 1 1 2 4| 8 Joss]
0 2 2 4 8 | 17 |0.32
ol 1 3 2 3 9 [ 3 [075]
2 6 4 6 18| 6 |0.75
A Al 0 1 1 0 2 | 10 [0a7] _
0 2 3 0 5 | 20 |0.20
W3 >
0. C. T W | Bk | M
7 T AT T A 370 LK ATFR&D [t
= Va4 ® FH 20 K (AN we lwe | 6 ‘A
o 2 3 3 1 o [ 3 [075]
4 6 6 3 19| 7 073
72552 1 2 3 2 8 [ 4 [o67|
3 4 6 5 18 | 8 |0.69
0. c. T 0 1 3 1 5 | 7 [oaz]
B) 0 2 6 2 10 | 14 |0.42
0 0 0 1 1 | 11 |o0.08
BE]‘D UB:R
.. 0 0 0 2 o | 23 |0.0s| °
IMFR&D 2 1 2 2 7 | 5 [o0s8]
4 2 4 5 15 | 12 | 056

M:vyFR(EE) | GoyFR(TE)




